JL_

Multiplication (Vertical) Name:
Solve each problem. Answers
1 87 2) 63 3) 88 4) 72
x 24 x 13 x93 x 99 -
2.
3.
4.
5) 54 6) 79 7) 56 8 25
5.
X 34 X 69 x 11 x 20
6.
7.
8.
9 98 10) 17 11) 19 12) 22
9.
X 93 x 53 x 53 X 99
10.
11.
12.
13) 90 14) 51 15) 46 16) 17
13.
X 72 x 60 x 50 x 18
14.
15.
16.
17 77 18) 59 19) 77 20) 13
17.
X 61 X 33 x 58 x 49
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1) 2) 3) 4)
87 63 88 72 . 2088
X 24 x 13 x 93 X 99
348 189 264 648 N 819
+1.740 + 630 +7,920 + 6,480
2 088 819 8184 7.128 3 __ 8184
. 7,128
5) 6) 7) 8)
54 79 56 25 . 183%
X 34 X 69 x 11 x 20
216 711 56 500 s 5451
+1.620 +4.740 + 560
1,836 5 451 616 7. 616
8 500
9 10 11 12
) 08 ) 17 ) 19 ) 22 . 9114
X 03 x 53 x B3 X 99
204 51 57 198 o 901
+8.820 + 850 + 950 +1.980
9.114 901 1,007 2178 1. 1,007
» 2178
13 14 15 16
) 90 ) 51 ) 46 ) 17 s 6480
X 72 x 60 x 50 x 18
180 3.060 2 300 136 u 3,060
+6,300 +170
6.480 306 15, 2,300
16. 306
17 18 19 20
) 77 ) 59 ) 77 ) 13 o 4697
x 61 X 33 x 58 x 49
77 177 616 117 s 1,947
+4.620 +1.770 +3,850 +520
4,697 1,947 4.466 637 0. 4,466
20. 637
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